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QUESTION 1

What are two considerations when designing an IP fabric? (Choose two.) 

A. Every leaf node should have an uplink to every spine node. 

B. Leaf nodes and spine nodes should be the same type of device. 

C. Uplinks from servers to the leaf nodes should be 40GbE links. 

D. All spine nodes should be the same type of device. 

Correct Answer: AC 

 

QUESTION 2

You must implement security services between VMs that are hosted on the same server. You need to perform Layer 3
routing, UTM, IPS, and NAT services while minimizing space and resource usage. 

Which Junos product will satisfy the requirements? 

A. MX 

B. SRX 

C. vMX 

D. vSRX 

Correct Answer: D 

 

QUESTION 3

You are asked to design a new data center connection where connections between switches will be encrypted for Layer
2 traffic. 

In this scenario, which solution will provide the required encryption? 

A. SSL 

B. TLS 

C. IPsec 

D. MACsec 

Correct Answer: D 

 

QUESTION 4
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You want to reduce the over-subscription ratio of an IP fabric between the leaf nodes and spine nodes. Which two
actions will accomplish this goal? (Choose two.) 

A. Add spine nodes to the fabric. 

B. Increase bandwidth between the spine and leaf. 

C. Add leaf nodes to the fabric. 

D. Add aggregate links to the servers. 

Correct Answer: AB 

 

QUESTION 5

You are designing a Data Center Interconnect (DCI). You must ensure that the local PE learns the local MAC addresses
and then distributes these learned MAC addresses to the remote PEs using the control 

plane. 

In this scenario, which DCI solution will satisfy the requirements? 

A. Ethernet VPN 

B. CCC 

C. BGP Layer 2 VPNs 

D. BGP Layer 2 circuits 

Correct Answer: C 
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